
Simplify or solve
1)
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2)
3(2a + 3) + 4( a – 5) =
3)
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6)
3m + 2 = 8m – 12
7)
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9)
4(x + 3) = 5(x – 6)
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1)  I have more than $8   How much money could I have?

2)  I have at least $26   How much money could I have?

3)  When Bob and Bill combine their money they get at least $480

4)  Two numbers are added, then the result is multiplied by 4 to give at least 20
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       3 > 8 – 4       True / False?

≥ 
means






4 + 7  ≤ 6 + 5       True / False?

Solve

1)
 12 + m > 30


2)
g - 6 ≥ 24


3)
3m + 2 ≤ m + 17

If 3 > 6

does -3 > -6?



If -2 < 5
does 2 < -5?

If -x > 3 then x … -3


What happens if we multiply by a negative?

4)
 -3m < 30



5)
-4g ≥ -20


6)
28 - 4m ≤ 40
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3)  8x – 10 < 15x + 3


4)  3(2x – 4) – 4(3x – 2) ≥ 6(5x + 11)
5)   
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1:
The field is twice as long as it is wide. 

The length of fence around the field is 156m

How wide is the field?
Step 1:
Draw a picture 

(put on information)

Step 2:
Form an equation

Step 3:
Solve the problem

2:
A different field is 23m longer than it is wide


The fence around the field is 160m


What is the area of the field?
3:
A students age is doubled, then 6 years are subtracted.  

The result is 26. 

How old was the student?

Read question and extract relevant information
Check variable definitions

Questions will relate to:


The equation terms, numbers, parts

Substitution into an equation


Write and equation to solve




Solve equations


Rearrange equations





Solve simultaneous equations

Eg

Ted Tosspots  car rental company charges a $40 fee and 24cents per km
Roger Ripoff’s company charges a $48 fee and 18cents per km
1) Write an equation for Ted Tosspot’s total cost
2) A trip of 1800 km with Ted will cost?
3) How far can you drive with Rogers car for $140?

4) What is the distance driven when the companies have the same cost.

5) If the costs were to be the same at 320 km what should Ted’s cost per km now be (assume all other costs don’t change)





















































































Inequalities practice
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Ex 1.11








HW Theta pg 5 & 6





Linear Applications





Inequalities









































Starter
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Ex 1.12





Word problems











HW Theta pg 3 & 4 Done?
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